Cuytqyuo N5
L junwywpnipywu 2024 pywljuuh
ntijntiipiph 27-h N 2066 - U npnydwu

cUsuUsSuuvh AULNPUNGSNR-8UL YUNTYLUMRF8UL 2023 (edUUU Lh HYGUSGURGh 28-h N 2323-U NNTCUUL

N 3 QUYLGLIUONRU YUSU YN PNONUNRMF8NRLLERR

Amistinwyhu dwifuubinh gnpdwnwlwu nuuwljupgiwu pudhuubiph, fudptiph b

8nigwuhputiph thnthnfunipyniup
(wytyugnidutipp upgwd tu

Opugnuyh uuhsp nuwubiph, ppmgtinuwyhu opwgnptinh dhongunnidutiph, pymgtinuwyhu npujwu wywuny, hul
hwmnugnmdutiph qjfuwynp upgqunphsutiph wugwundubpn ujwqgbtignmdubipp hwljugotpnd)
opwghpp | dhyngumnnuip nwph
LVRUUG LR (34,144,578.9)
wyn pymd
Cwupuy innpjut twjuwguhh wjpwnwljmqu 230.0
wyn pymd
1154 Cuiupuwtinnipjuu awjuwquhh jhugnpmpmuutph hpuutwgdwu wyywhnynid 230.0
wyn pymd
11005 L whnwuin junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, hwygun hundutp,
nuwwunwpwuh Yyahnutiph b npnymdutinh nd ytpwpuuhy b yanwphy pnnnpubip 230.0
utpuyugutphu' «Ntnwjuit mmpph dwuhu» £&8 optiupny uwhdwuwd Yyawpndutn
wyn pYmd' pun juwmwnpnnutiph
Cwlipww lapnieywiu Wwpuwquhp wo puwpuwljugd 230.0
wyn pYymd’ pmgtnnuyhu dwjfuubtinh muntiuughmnwjuu puuwlupgdwu hnnyuoutn
LLRUUGLL oUluUer 230.0




Cu(U8hu ocUuUGH 230.0
U3L oUruutr 230.0
Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin 2300
dwlwpnulyutiph Ynnuhg fhpunynmd tu dhdjwug ujumdwudp
£Z Jupguy timh wifuwmmwmyuqu 15,404.4
wyn) pynuf’
1136 £L Jwpywytimh thugnpnipymuutinh hpujuuwgdwu wywhnynid 15,404.4
wyn} pynud’
11007 L ytnwjuiu junwjupdwu dwpdhuubiph Ynnuhg nhumdutp, huygun hundutp,
nuwunwpwuh yahnutiph b npnpmuidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 15,404.4
utipuyugutphu' «Nnwljuiu mmpph dwuhu» £€ optiupny uwhdwujwd Jawpndubn
wyn pYnmd’ pun Juwmwpnnutinh
L Yupswwylaph wy uwypuljugqd 15,404.4
wyn pYymd’ pmgtnnuyhu dwifuubtinh muntuughmnwjuu puuwlupgdwu hnnyuoutn
LLRUUGLL oUluUer 15,404.4
Cu(U8huy ocUuUGH 15,404.4
UsL ouhutr 15,404.4
Cunytp, wupuwnhp yawpubp b wnydbtp, npnup junwjwpdwu mwpptip 15.404.4
dwlwpnuyutiph Ynnuhg fhpunynmd tu dhdjuwug ujunmdwdp ’
L4 nunuwjuwqgnipjniu 209.4
wyn pynul
1087 SGunwyupuwuu njujupmd b punwjuuquju hujnnnipyniu 209.4
wyn pynud
11004 L whnwuin junwyupdwu dwpdhuutiph Ynnuhg nhimdut;, huygun humdutip,
nuwunwpwuh yahnutiph b npnpmidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 209.4

ubpuyugutphu' «Nnwljuu nmipph dwuhuy ££ optiupny uwhdwuwd Jawpmudutp




wyn pYmd' pun jumwnpnnutiph

L4 nuupwiugnignil 209.4
wyn pYymd’ pmgtnnuyhu dwifuubtinh muntuughmnwjuu puuwlupgdwu hnnyuoutn

CLRUUGLL oUluUB 209.4
CueU8hu ocUuUG? 209.4
UsL ouhutr 209.4
Cunytip, wupuwnhp yawpubp b wnydbp, npnup junwjwpdwu mwpptip 209.4
dwupnulutinh Ynnudhg Yhpunymd tu dhdjwug ujundwdp

L mupwdpwyhu junwwpdw b Gupuljunmgywéputiph vwjuwpupnipynmu 68,255.8
wyn pynul

1001 Swpwodpwjht junwywpdwu njpnpunmd punupwjuwunipjuu yywlnid, opugptiph 443953

hwdwlwpgnmd b Unuhnnphugh hpujuuwugmud ’

wyn pynud

11005 M. dwutwlgnipjudp wnbnpuyht juquultipy. juunuwnp. juuyhnwjnd

. dwuuwlgnipyuu tjuq. dwuwwywunphny wmhyutiph juqdhg gnyp 443953
wnwuduwgubihu gnypu unwgnn whw. unwywps. hhduwpyh Ynndhg dunw- ’
Jupunhu Jawpdwu Gupulju UUS-h yupunuwynpnie. Junwpdwtu gony  dwjuubip

wyn pYnid’ pun juwmwnpnnutinh

L ypupwopuyple unwijwipdwi b Gipwlwnnigyudpbinh wwpuwpwpnieu 44,395 3
wlpwlwl gnyph hunwijwpdwy Yndppl o
wyn pYmd’ pgmgtinuyhu dSwjuutinh muntiuwghmnwjuu puuwluwpgdwu hnnyuoutn

CLRUUGLL oUluUB 44,395.3
CueU8hu ocUuUG? 44,3953
UsL ouhutr

44,3953




Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin
dwupnulutinh Ynnudhg Yhpunymd tu dhdjwug ujundwdp

44,3953

1079

Nhmnmwwu gnyph Junwywpnid

23,8325

wyn pynul

11007

L it junwyundwu dwpdhuutph Ynnihg nhimdutn, hwygunhuinwdutp,
nuwunwpwuh Yyahnutiph U npnpymudutinh nid ytpwpuuhy b yanwpky pnnnpubip
ubpuyugutphu' «Nmnwljua nnipph dwuhuy £€ optiupny uwhdwiugwd Yyawpmudutyp

23,8325

wyn pYmd' pun jumwnpnnutiph

L ypwpwopuyple unwjwipdwi b Gipwlwnnigyudpbinh wwpuwpwpnieuc
wlpwlwl gnyph hunwiywpdwl ndpple

23,8325

wyn pYymd’ pmgtnnuyhu dwjuubinh muntiuughmnwjuu puuwlupgdwu hnnyuoutn

CLRUUGLL oUluUB

23,8325

CufeU8hu ocUluUG?

23,8325

UsL ouhutr

23,8325

Cunytin, wupuwnhp yawpubp b wnydbtp, npnup junwyjwpdwu mwpptip
dwlwpnuyutiph Ynnuhg fhpunynmd tu dhdjuwug ujumdwdp

23,8325

31002

Ny dhuwuujuiu wmhyutiph omwpnhg Uninptin

wyn pYmd' pun juwmwnpnnutiph

L ypwpwopuypl unwijwpdwi b Gupwlwnniguopubnh Wwpuwpwnpnigejui
wlaopwlwl gnyph hunwijwpdwy Yndppl

wyn pYmd’ pnigtinuyht dwuutinh muntiuvwghnwjwu puuwlupgiwu
hnnyjwdutip

LULAHUELL oUluUG?

N2 hulLUUUUL UUShd'LEh OSUNMNKUNh8 UNKSLEN

(s dhuwuumjuu wmhyutiph omwpnuhg dninptiph unwgnid

12,000,000.0

Znnh omwpnidhg dhongubtiph unwgnid

(12,000,000.0)




1109

2puwjhu mumbiunipyjuu npnpunid dpwgnpbiph hwdwlupgnmd b Untthwnnphug

28.0

wyn pynud

11002 L whmnwuin junwyupdwu dwpdhuutiph Ynnuhg nhimdutpn, hwygun hunmdutp,
nuunwpwuh yahnutinh b npnymudutinh nd ytpupuupy b Janwptly pnnnputin 28.0
utpuyugutphu' «Ntnwljut mmpph dwuhu» £ optiupny uwhdwuywd Jawpndubn
wyn pYnd’ pun uwmwnpnnutinh
L4 pwpwopuwyple unwijwpduwd i Bupwlunnigudpulinh huuwpunpnieute
28.0
opuyhu hnudpunk
wyn pYymd’ pmgtnnuyhu dwjuubinh muntiuughmnwjuu puuwlupgdwu hnnyuoutn
CLRUUGLL oUluUB 28.0
Cu(U8hu ocUuUGH 28.0
U3L oUruutr 28.0
Cunytip, wupuwnhp yawpubp b wnydbtp, npnup junwjwpdwu mwpptip 8.0
dwlwpnulyutiph Ynnuhg fhpunynmd tu dhdjwug ujumdwdp '
L4 wnnnswywhmpjuu vwjuwpupnipyniu 5,075.2
wyn} pynuf’
1126 Unnnowwwhnipyuu npnpunnid yhnwlwu punupujuwinipyuu dywlnud, 5.075.0
dpwgptiph hwdwupgnid b Unuhwnnphug T
wyny pynud’
11003 L ytnwjuiu junwyupdwu dwpdhuubtiph Ynnuhg nhudmduty, huygun hundutp,
nuwunwpwuh Yyahnutiph U npnpymudutinh nd ypwpuuhy b yanwphy pnnnpubip 1,699.0
utipuyugutphu' «Nnwljuiu mmpph dwuhu» £8 optiupny uwhdwujwd Jawpnmudubn
wyn pYnid’ pun uwmwpnnutinh
L4 wnnnowwwhnyejwl Wwpwwpwpnienii 1,699.0
wyn pYymd’ pmotnnuyhu dSwjuubtinh muntiuughmnwjuu puuwlupgdwu hnnguoutn
CLRUUGLL oUluUB 1,699.0




CuaU8hu ocUuUGH 1,699.0
U3L oUruutr 1,699.0
Cunytin, wupunwnhp yawpubp b wnydbtp, npnup junwjwpdwu mwpptip 1699.0
dwlwpnulyutiph Ynnuhg fhpunynmd tu dhdjwug ujumdwdp ’
11007 M. dwutwlgnipjudp wnbnpuyht juquuwibpy. juunuwnpuyuu

Juuhunwnd whn. dwuuwlygnipyuu tjugtigdwt auuwwwphny wyumhyubtph

Juquhg gnyp wnwudtwgutihu gnypu unwgnn . Junwyuwps. hhduwpyh 3,376.2
Unnuhg dwnwupwnphtu Jaupdwh tupuju UUL-h wupunwynpoip. junwpdwi

qony owfuubin

wyn pYnmd’ pun Juwmwpnnutinh

L4 wnnnowwwhnyejwl Wwpiwpwpnienii 3,376.2
wyn pYmd’ pnmgtinuyht dwfuutiph muntivwghnwjuwu nuuwlupgiwu

hnnyjwodutip

CLRUUGLL oUluUB 3,376.2
Cu(aU8hu ocUuUGH 3,376.2
UsL ouhutr 3,376.2
Cunytin, wupunwnhp yawpubp b wnydbtp, npnup junwjwpdwu mwpptip 33762
dwlwpnulyutiph Ynnuhg fhpunynmd tu dhdjuwug ujumdwdp ’

L4 wpnupunwunnipju twjuwpwpnipjnia 3,867.8
wyny pynuf’
1057 Unpnwpunwmnnipjuu npnpunid punupwuunipyuu Wwlnud, dSpugpbph 148.0
hwdwlwpgnid, junphppuwmynipyjuu b Unuhnnphugh hpuuwuwgnid )
wyn} pynuf’
11004 L whmnwuin junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, hwygun hundutp,

nuwunwpwuh yahnutiph b npnpmidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 148.0

ubpuyugutphu' «Nmnwljuu nnipph dwuhuy ££ optiupny uwhdwiugwd YJawpmudutp




wyn pYmd' pun jumwnpnnutiph

L4 wpnuwpwnuipnijejuli Wwuwpuipnienil 148.0
wyn pyYnud' pigtinuht dwjuutiph muntuwghnujun nuuujupguiwu hnnpjuoutn
CLRUUGLL oUluUB 148.0
CueU8hu ocUuUG? 148.0
UsL ouhutr 148.0
Cunytip, wupuwnhp yawpubp b wnydbp, npnup junwjwpdwu mwpptip 148.0
dwupnulutinh Ynnudhg Yhpunymd tu dhdjwug ujundwdp
1182 Cwunyunhp uunwpdwu dwnwynipjniuttn 3,719.8
wyn pynud
11002 L wnwwu junwywpdwu dwpdhuutiph Ynnuhg nhinmdutp, haygunhuinnfutp,
nuunwpwuh yahnutinh b npnymudutinh nd ytpupuupy b Janwptly pnnnputin 2,695.8
ubpuyugutphu' «Nmnwljuu nnipph dwuhuy ££ optiupny uwhdwiugwd YJawpmudutp
wyn pYmd' pun jumwnpnnutiph
LL wpnuipuwnuapniejul wwwpupngeuwu huplunhp jugpwpnodu
wwwhnynn Swnwynipnil 2692.8
wyn pYymd’ pmgtnnuyhu dwjfuubinh muntuughmnwjuu puuwluwpgdwu hnnyuoutn
CLRUUGLL oUluUB 2,695.8
CufeU8hu ocUluUG? 2,695.8
USL ouhut™ 2,695.8
Cunytip, wupuwnhp yawpubp b wnydtp, npnup junwjwupdwu mwpptip
Uwfupnuyutiph Ynnihg Yhpunynud b dhdjug uumdunip 2,695.8
11004 Nmnuwjut dwpdhtutphg ppuwgquinddut tupuju gmuwputph Jawpnd « buamnw- 1,024.0

Juiu wuntiph hwplunhp fumwpdwu dwuhu» optiupny uwhdwuwd ntwptpnud

wyn pYmd' pun juwmwnpnnutiph




L Yupswwylaph wy uwypuljuqd 1,019.0
wyn pYmd’ pgmgtninuyhu dSwjuutinh nmuntiuwghmnwjuu puuwluwpgdwu hnpyuoutn

LLRUUGLL oUluUGr 1,019.0
CueU8hu oUluUE? 1,019.0
U3L oUruutr 1,019.0
Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin 1019.0
dwupnulyubtph Ynndhg hpunynd tu dhdjung ujundwdp T
£L punuipwphungejue Yndpipl 5.0
wyn pYymd’ pmgtnnuyhu dwfuubinh muntiuughmnwjuu puuwlupgdwu hnnguoutn

CLRUUGLL oUluUB 5.0
CueU8hu oUluUE™ 5.0
U3L oUruutr 5.0
Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin 50
dwupnulutinh Ynnudhg Yhpunymd tu dhdjwug ujundwdp '
£Z Fynundhluwyh vwjuwpupnipimu 2,059.9
wyn pynul

1058 Eynundhljuyh ninpunnid yhnmwjuwu punupwjuunipjuu dywlnid, opugptiph 9.059.9
hwdwljupgnid b Unuhpnphug T
wyn pymd
11006 L whmnwuiu junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, hwygun hundutp,

nuwunwpwuh yahnutiph b npnpmidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 2,059.9
utpuyugutphu' «Nnwljuiu mmpph dwuhu» £8 optiupny uwhdwujwd Jawpnmudubn

wyn pYnmd’ pun uwmwnpnnutinh

LL Fynundpljuyh Wwpuwpwpnieniu 2,059.9
wyn pYymd’ pmotnnuyhu dSwifuubtiph muntiuughmnwjuu puuwlupgdwu hnnguoutn

CLRUUGLL oUluUB 2,059.9




CuaU8hu ocUuUGH 2,059.9
USL ouhut™ 2,059.9
Cunytin, wupunwnhp yawpubp b wnydbtp, npnup junwjwpdwu mwpptip 2.059.9
dwlwpnulyutiph Ynnuhg fhpunynmd tu dhdjwug ujumdwdp ’
L wipmwphu gnpdtiph  vwjuwpupnipyniu 23,230.0
wyny pynuf’
9020 Upwignipiniu omwnptppu whnnipyniuutipnid ££ nhjwuwghmwljuu 23.230.0
ownwjnipjwu Juquuwitpudwup b hpupjuwuwgdwup ’
wyn pynuf
11001 Uowignipniu ££ nuyyuunipjniuutiph gnpontutinipjwu hpwjuwuwgdwup 23,230.0
wyn pYmd' pun juwmwnpnnutiph
L wpypwph gnpodliph wwpwpwpnieniu 23,230.0
wyn pYmd’ pgmgtinuyhu dSwjuutinh muntiuuwghmnwjuu puuwluwpgdwu hnpyuoutn
LLRUUGLL oUluUGr 23,230.0
CuaU8hu ocUuUGH 23,230.0
USL ouhut™ 23,230.0
Uj) dwifuutip 23,230.0
L4 Yppmpjuu, ghumpju, Yulmjph b uygnpuh vwjuwpupmpymu 897.3
wyn pynuf’
1130 Uppnipjwl, ghnnipjwl, Ywinyph b uynpunh puuquyunh  ywhnwlwu 8973
punupuwljuunpjuu dwlynid, opugptiph hwdwlupgnmd b Unthpnphug
wyn pynul
11004 L whnmwjuiu funwyuwpdwiu dwpdhuutiph Ynnihg nhinnfutn, hwygunhdmdutyp,
nuwunwpwuh Yyahnutiph U npnpymudutinh nd ypwpuuhy b yanwphy pnnnpubip 897.3

ubpuyugutphu' «Nmnwljuu nmipph dwuhuy ££ optiupny uwhdwiugwd Jawpmudutp

wyn pYmd’ pun juwmwnpnnutiph




10

<< Yppniayuiss, glupnipjui, wlnyph b uwynpypf wwpuupupnigeni

897.3

wyn pYmd’ pmgtinuyhu dwjuutinh muntiuwghnwjuu puuwluwpgdwu hnpguoutn

LLRUUGLL oUluUer 897.3
Cu(U8huy ocUuUGH 897.3
UsL ouhutr 897.3
Cunytip, wupwwnhp yawpubp b mmydbp, npnup junwywpdwu mwpptin 8973
dwlwpnulyutiph Ynnuhg fhpunynmd tu dhdjwug ujumdwdp
4 wyuymuywunipju vwjuwpupnipiniu 40,624.7
wyn} pynuf’
1169 L yuyunywiunipyuu wwywhnynid 40,624.7
wyn pynud
11004 L whmnwuin junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, hwygun hundutp,
nuwunwpwuh yahnutiph b npnpmidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 40,624.7
ubpuyugutphu' «Nmnwljun nnipph dwuhuy ££ optiupny uwhdwiuwd Jawpmudutp
wyn pYnmd’ pun uwmwnpnnutinh
L4 wupypwwlinieuu wwpiupwpnije/nii 40,624.7
wyn pYmd’ pnigtitnuyht dwfuutiph muntivwghnwjuwu nuuwlupgiwu
hnnyjwodutip
CLRUUGLL oUluUB 40,624.7
Cu(U8hu ocUuUGH 40,624.7
U3L oUruutr 40,624.7
Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin 40,6247

dwupnuyutinh Ynnudhg Yhpwunynmd tu dhdjwug ujundwdp

L4 wjuwmnmuwiuph b unghwjmjuu hwpghiph twjuwpwpnipniu

(13,957,269.3)

wyn pymd’

1102

Ubkuwpnyujujht wywhnynipiniu

(8,361,093.0)
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wyn pymd’

12005 Uninwljuyht hwnjugnudubtip dwuuwlgh fhuuwpnyuljuyhu hwyyhu (8,361,093.0)
wyn pYmd' pun juwmwnpnnutiph
LL wlpwlw Ghwdnupuliph ndpipk (8,361,093.0)
wyn pYmd’ pmgtinuyhu dwjuutinh muntiuwghnwjuu puuwupgiwu hnnpyuoutn
LLRUUGLL oUluUGr (8,361,093.0)
Cu(U8huy ocUuUGH (8,361,093.0)
UNShULUUUL LDAUUSLE B, UGLUUNCUULE? (8,361,093.0)
Uktuwpnyuljutip (8,361,093.0)
- Uhuuwpnyuljutip (8,361,093.0)
1117 Unghuqujui yuumuyuiunpju puwguyunnd wyimwjuu punupujuiunjgyuu 73175
Uowynid, dSpwgnpph hwdwlwpgnud b Unuhpnphuq ’
wyn pynuf’
11006 L ytnwjuiu junwjupdwu dwpdhuutiph Ynnuhg nhumduty, huygun hundutp,
nuwwunwpwuh Yyahnutiph U npnpymudutinh nd ytpwpuuhy b yanwphly pnnnpubip 457.3
ubpuyugutphu' «Nmnwljua nnipph dwuhuy ££ optiupny uwhdwiugwd Jawpmudutp
wyn pYmd' pun juwmwnpnnutiph
L8 wpuwpwiuph b unghuwywliule hwpglinh wwpiwpuwpnieniu 457.3
wyn pYymd’ pmotnnuyhu dSwfuubtinh muntiuuwghmnwjuu puuwlupgdwu hnnguoutn
CLRUUGLL oUluUB 457.3
CuaU8hu ocUuUGH 457.3
UsL ouhutr 457.3
Cunytin, wupuwnhp yawpubp b wnydbtp, npnup junwjwpdwu mwpptip 4573

dwlwpnulyutiph Ynnuhg fhpunynmd tu dhdjwug ujumdwdp




11007

12

Ly junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, haygunhdnudutp,

nuunwpwuh yahnutiph b npnpmidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 6,860.2
utipuyugutphu' «Nnwljuit mmpph dwuhu» £8 optiupny uwhdwujwd Jawpndubn
wyn pYnid’ pun uwmwpnnutinh
L upuwpwiuph I unghwywljwiy hwpgbiph wwpiupwpnieyuy dhwuiwlul
unghwjuiljuu Swnuynipiniu 6,860.2
wyn pYmd’ pgmgtninuyhu dSwjuutinh nmuntiuwghmnwjuu puuwluwpgdwu hnpyuoutn
LLRUUGLL oUluUer 6,860.2
CuU8hu ocUuUGH 6,860.2
U3L oUruutr 6,860.2
Cunytip, wupwwnhp yawpubp b mmydbp, npnup junwywpdwu mwpptin 6.860.2
dwlwpnuyutiph Ynnuhg fhpunynmd tu dhdjwug ujumdwdp ’
1205 Unghwjujuu wywhnynipyniu (5,603,493.8)
wyn) pynuf’
12009 Cuwywunuwiuh Cwiupuytinnpywiu yuwynwwunpywu dudwwly ghudwnuwnnutnh (5,603,493.8)
Jwuphtu jud wnnnonipjuup uwnmdwnywd Juwuubiph hwnnignid T
wyn pYnmd’ pun Juwmwpnnutinh
L wlpwlw Ghwdnupulinh ndpipl (5,603,493.8)
wyn pYmd’ pnigtitnuyht dwjuutiph muntiuvwghnwjuwu nuuwljupgiwu
hnnyjwdutip
LLRUUGLL oUluUer (5,603,493.8)
Cu(U8huy ocUuUGH (5,603,493.8)
arruvacunrLver (5,603,493.8)
Cupwghly npudw)unphubip ywhmwljuu hwnywdh wy) dwjupnuljutiphu (5,603,493.8)
- U1 pupwghl npudwyunphutin (5,603,493.8)
£4£ pwipap wmhijuuninghuju wpynmuwptpnipyu twjpwpupnpniu 572.4




13

wyn pymd’

1100

Fupap mbfuuninghujuu wpynmuwpbpnipuu puuquyunnmd whnwluwu

punupuwljuunpjuu dwlynid, opugptiph hwdwjupgnmd b Unthpnphug o724
wyn pynul
11004 L ytnwjuu junwyupdwu dwpdhuubtiph Ynnuhg nhumduty, huygun hundutp,
nuwunwpwuh Yyahnutiph U npnpymudutinh nid ytpwpuuhy b yanwpky pnnnpubip 572.4
ubpuyugutphu' «Nmnwljua nnipph dwuhuy £€ optiupny uwhdwiugwd Yyawpmudutyp
wyn pYmd' pun jumwnpnnutiph
£L pwpdp plipuinnghwluwle wpnniiwplipnuyejul wwpaupuwpnienii 572.4
wyn pYmd’ pmgtinuyhu dwjuutinh muntiuwghnwjuu puuwluwnpgdwu hnpguoutn
LLRUUGLL oUluUer 572.4
Cu(U8huy ocUuUGH 572.4
U3L oUruutr 572.4
Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin 5794
dwupnulutinh Ynnudhg Yhpunymd tu dhdjwug ujundwdp '
££4 $huwuutiph vwjuwpupnipyniu 64,630.7
wyn pynul
1108 Cwupwyhu $huwnuutinh junwjwpdwu ppwguyunnd yhnwljwu 64.630.7
punupuwljuunpjuu dwynid, oSpugptiph hwdwljupgnmd b Unthpnphug T
wyn pynud
11005 L whmnwjuin junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, hwygun hundutp,
nuwunwpwuh yahnutiph b npnpmidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 64,630.7
utpuyugutphu' «Ntnwljut mmpph dwuhu» £ optiupny uwhdwuywd Jawpndubn
wyn pYnmd’ pun uwmwnpnnutinh
L4 phluwunlinh wwfuwpuwipnie nii 64,630.7

wyn pYymd’ pmgtnnuyhu dSwifuubtinh muntiuughmnwjuu puuwlupgdwu hnnguoutn
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LLRUUGLL oUluUer 64,630.7
Cu(U8huy ocUuUGH 64,630.7
USL ouhvut™ 64,630.7
Cunytip, wupwwnhp yawpubp b mmydbp, npnup junwywpdwu mwpptin 64.630.7
dwupnulutinh Ynnudhg Yhpwunymd tu dhdjwug ujundwdp ’
££ ulipphu gnpdtiph wwjuwpupnipyniu 48,806.3
wyn pynul
1234 “Lltippht gnpotipnh uwjuwpupnipjuu nnpuh punupujuiunyepyuu dwymd, junw- 48.806.3

Junpmd, Jhunpnuugquo dhongunmdutp, dnuhwnnphug b ytpuhulnnnipymu ’

wyn pynd

11017 L whnmwjuiu funwyuwpdwiu dwpdhuutinh Ynnihg nhinofutn, haygunhumduty,

nuwunwpwuh Yyahnutiph b npnymdutinh nd ytpwpuuhy b yanwphly pnnnpubip 48,806.3
ubpuyugutphu' «Nmnwljuu nnipph dwuhuy ££ optiupny uwhdwiugwd YJawpmudutp

wyn pYmd’ pun jumwnpnnutiph

LL ulipphle gnpdlinh wwpuwpwipniganil 48,806.3
wyn pYmd’ pgmgtinuyhu dwjuutinh muntiuwghnwjuu puuwluwnpgdwu hnnpguoutn

LLRUUGLL oUluUGr 48,806.3
C'u(U8huy ocUuUGH 48,806.3
USL ouhut™ 48,806.3
Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin 48.806.3
dwunpnuyutinh Ynnuhg Yhpwunynmd tu dhdjwug ujunduwdp AR
££ hwipuwyhu dSwinwympyniuutipp jupquynpnn hwhdumdnnny 60.0
wyny pynuf’

1064 Cwupwyhu dwnwjnipnuutinh ninpunh Jupquynpnid 60.0

wyn pynul
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11002 L whnwuin junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, hwygun hundutp,

nuunwpwuh yahnutiph b npnpmidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 60.0

utipuyugutphu' «Nnwljuit mmpph dwuhu» £8 optiupny uwhdwujwd Jawpndubn

wyn pYnid’ pun uwmwpnnutinh

£L hwbipuwyhu ownuynipniiulinn hupquiynpnn hwidwdnnny 60.0
wyn pYmd’ pgmgtnuyhu dSwjuutinh muntiuwghnwjuu puuwluwpgiwu hnpyuoutn

LLRUUGLL oUluUer 60.0
CueU8hu ocUuUGH 60.0
UsL ouhutr 60.0
Cunytin, wupunwnhp yawpubp b wnydbtp, npnup junwjwpdwu mwpptip 60.0

dwlwpnuyutiph Ynnuhg fhpunynmd tu dhdjuwug ujumdwdp )
Upguljgmpjuu wwimywunipjuu hwiduwdnnny 1,263.4
wyn pynul

1034 Stntiuwuu dpgujgnipyu ywounuwunipintu 1,263.4
wyn pymd
11002 L whnmwjuu junwyupdwiu dwpdhuutnh Ynnihg nhinofutn, haygunhumduty,

nuwwunwpwuh Yyahnutiph b npnymdutinh nd ytpwpuuhy b yanwpty pnnnpubip 1,263.4

utipuyugutphu' «Nnwljuit mmpph dwuhu» £8 optiupny uwhdwujwd Jawpndubn

wyn pYnid’ pun uwmwpnnutinh
Ungulgniewi wwoypwwuniejuy hwhdiwwdnnny 1,263.4
wyn pYmd’ pmgtnnuyhu dwjuutinh muntiuwghnwjuu puuwluwnpgdwu hnpguoutin

LLRUUGLL oUluUer 1,263.4
CueU8hu ocUuUG? 1,263.4
UsL ouhutr 1,263.4
Cunytip, wupuwnhp yawpubp b winydbtp, npnup junwjwpdwu mwpptip 12634

dwlwpnulyutiph Ynnuhg fhpunynmd tu dhdjwug ujumdwdp
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£Z junwuwmph Yndhwnbk 4,022.5
wyn pynul
1012 Uupwnd gnyph Junuuwmph qupdwu puuguyjunnid ybmwluwu
4,022.5
punupwjuunipjwu hpwlwuwgnid
wyn pynuf
11002 L whmnwuin junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, hwygun hundutp,
nuwunwpwuh yahnutiph b npnpmidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 4,022.5
utipuyugutphu' «Nnwljuit mmpph dwuhu» £8 optiupny uwhdwujwd Jawpnudubn
wyn pYnmd’ pun uwmwnpnnutinh
CL hunwuppp hndpiple 4,022.5
wyn pYmd’ pgmgtnuyhu dwjuutinh muntiuwghnwjuu puuwluwnpgdwu hnpyuoutn
LU HIUGLE oUluUGH 4,022.5
CuU8huy ocUuUGH 4,022.5
USL ouhut™ 4,022.5
Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin 40005
dwupnulutiph Ynnuhg hpunynmd Gu dhdjuug ujumdudp T
Lhinnumuwnbtiunipjui b nwnhnjh hmuduwdnnny 94.0
wyn) pynuf’
1007 Stuwunnujwu dtinhuyh njnpunh Jupgquynpnud 94.0
wyn} pynuf’
11002 L whmnwuin junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, hwygun hundutp,
nuwunwpwuh yahnutiph b npnpmidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 94.0
utipuyugutphu' «Nnwljuit mmpph dwuhu» £8 optiupny uwhdwujwd Jawpndubn
wyn pYnmd’ pun uwmwnpnnutinh
Lhnniuwypuapliunyeywiu b nuunhngh hwuduwwdnnny 94.0
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wyn pYmd’ pnmgtinuyht dwjuutiph muntivwghnwjuwu nuuwlupgiwu
hnnyjwodutip

CLRUUGLL oUluUB 94.0
CueU8hu oUluUE™ 94.0
UsL ourutr 94.0
Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin 940

dwupnulutinh Ynnudhg Yhpwunymd tu dhdjwug ujunduwdp

L yhwnmwjwu tjuwinnubtiph Yndhnk

(3,026,352.4)

wyn pynul
1023 Cwnyuyhtu b dwpuwyhu dwnwynipjniuutp 385,127.7
wyn} pynuf’
11006 L whmnwuin junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, hwygun hundutp,
nuwunwpwuh yahnutiph b npnpmidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 385,127.7
utpuyugutphu' «Nnwljuiu mmpph dwuhu» £8 optiupny uwhdwujwd Jawpndubn
wyn pYnid’ pun juwmwpnnutinh
LL wlpwlwl Ghwdnupuliph Yndpipk 385,127.7
wyn pYmd’ pmgtninuyhu dSwjuutiph muntiuwghnwjuu puuwupgiwu hnnguoutn
LLRUUGLL oUluUGr 385,127.7
CufeU8hu ocUluUG? 385,127.7
USL ouhut™ 385,127.7
Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin 3851977
dwupnuyutinh Ynnuhg Yhpwunynmd tu dhdjwug ujunduwdp e
1239 Chthnptipuht Jupyh Jawpjwo mnynuutinh gmudwnph ybpunwupa (3,411,480.1)
wyn) pynuf’
11001 Chthnptipuht Jupyh Jawupgwo mnynuutinh gmudwnputinh ytpunwpa (3,411,480.1)

wyn pYmd’ pun juwmwnpnnutiph
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LL wlapwlwl Bhwdnupulinh hndhunb

(3,411,480.1)

wyn pYmd’ pgmgtninuyhu dSwjuutinh nmuntiuwghmnwjuu puuwluwpgdwu hnpyuoutn

LLRUUGLL oUluUGr (3,411,480.1)
Cu(U8hu ocUuUGH (3,411,480.1)
UNShULUUUL LAUUSLE B, UGLUUNCUULE? (3,411,480.1)
Unghuquljuiu ogunipjuiu npudujuin wpmnwhwynnpjudp uyyuunubn (pjuigtihg) (3,411,480.1)
- Uj) uyuunutipn pjnigtihg (3,411,480.1)
£Z4 punupuwhumpju Yndhmb 5,418.7
wyn pynul
1103 Luwnupuphunpyuu b dwpnupuytimnipyuu puwguywunnid ytnwluu 5.418.7
punupwljuunipjwu hpwwuwgnd b juunuwjupgmu >
wyn pynud
11004 L whmnwuin junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, hwygun hundutp,

nuwunwpwuh Yyahnutiph U npnymudutinh nd ytpwpuuhy b yanwphly pnnnpubip 5,418.7
ubipuyugutjhu' «Nnwljua nnipph dwuhuy ££ optiupny uwhdwiugwd YJawpmudutp

wyn pYmd' pun juwmwnpnnutinh

£L punuipwphungejue ndpipl 5,418.7
wyn pYmd’ pgmgtnuyhu dwjuutinh nuntiuwghwnwjuu puuwluwpgdwu hnpguoutn

LLRUUGLL oUluUGr 5,418.7
C'u(U8huy ocUuUGH 5,418.7
U3L oUruutr 5,418.7
Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin 5 4187
dwupnulutiph Ynnuhg hpunynmd tu dhdjuug ujunmdudp >
L4 Ghinuppmuhph dwpqutimwpua 50.0
wyn pynul

1025 £< Shnquppniuhph dwpgnd mwpwopuwht ywhwnwluwu Junwywupnid 50.0
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wyn pymd’

11004

L winwwiu junwywpdwu dwpdhuutph Ynnuhg nhimdutp, hwygun hunedutp,

nuwunwpwuh Yyahnutiph U npnymudutinh nd ytpwpuuhy b yanwphly pnnnpubip 50.0
utipuyugutphu' «Nnwljuit mmpph dwuhu» £8 optiupny uwhdwujwd Jawpmudubn
wyn pYmd' pun juwmwnpnnutinh
£L Glhinuppniupph dwpqulipupu 50.0
wyn pYmd’ pgmgtinuyhu dwjuutinh nuntiuwghwnwjuu puuwluwpgdwu hnnpyuoutn
LLRUUGLL oUluUGr 50.0
C'u(U8huy ocUuUGH 50.0
U3L oUruutr 50.0
Cunytin, wupunwnhp yawpubp b wnydtp, npnup junwjwpdwu mwpptip 50.0
dwlwpnuyutiph Ynnuhg Yhpunynmd tu dhdjuwug ujumdwdp
£4 Ynunuwyph dwpqubimwpwuu 30.0
wyn pynul
1037 £< Ununuwyph dupgnid mwpwopwhu whnwuu junwjwpnid 30.0
wyn pynud
11002 L whmnwuin junwyupdwu dwpdhuutiph Ynnuhg nhumdutp, hwygun hundutp,
nuwunwpwuh yahnutiph b npnpmidutiph nbid ytpupuuhy b yanwphlyy pnnnputin 30.0
utpuyugutphu' «Nnwljuit mmpph dwuhu» £&€ optiupny uwhdwujwd Jawpndubn
wyn pYnmd’ pun Juwmwpnnutinh
L4 Ynypwyph dwpquliypupuie 30.0
wyn pYymd’ pmgtnnuyhu dwifuubtinh muntiuuwghmnwjuu puuwluwpgdwu hnnguoutn
CLRUUGLL oUluUB 30.0
Cu(U8huy ocUuUGH 30.0
U3L oUruutr 30.0
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Cunytip, wupwwnhp yawpubp b mnydbp, npnup junwywpdwu mwpptin

dwupnulutinh Ynnudhg Yhpunymd tu dhdjwug ujundwdp 30.0
££ Chpwlh dwpqutinupwu 120.0
wyn pynul
1039 <L Chpwlh dwpgnud mwpwopwhu whnwwu junwyjwpnid 120.0
wyny pynuf’
11002 L whnmwjuiu junwyuwpdwiu dwpdhuutinh Ynnihg nhinofutn, haygunhumduty,
nuwunwpwuh Yyahnutiph U npnymudutinh nd ytpwpuuhy b yanwphly pnnnpubip 120.0
ubpuyugutphu' «Nmnwljuu nnipph dwuhuy £€ optiupny uwhdwiugwd Yyawpmudutyn
wyn pYmd' pun juwmwnpnnutinh
LL Chpwlh dwpqulopupud 120.0
wyn pYymd’ pmgtnnuyhu dwjuubtinh muntiuughmnwjuu puuwlupgdwu hnnguoutn
LLRUUGLL oUluUGr 120.0
Cu(U8hu ocUuUGH 120.0
USL ouhut™ 120.0
Cunytin, wupuwnhp yawpubp b wnydbp, npnup junwjwpdwu mwpptip 120.0

dwlwpnulyutiph Ynnuhg fhpunynmd tu dhdjwug ujumdwudp

£4 Junwywpnipjnia

(17,445,879.7)

wyn} pynud’

1139 £Z Junwywpnipjwu ywhnunwjhu $nun (17,445,879.7)
wyn pynud

11001 £< Junwywpnipjwu ywhnunwjhu $nun (17,445,879.7)

wyn pYmd' pun juwmwnpnnutiph
L4 hwnwifwpnie il (17,445,879.7)
wyn pYymd’ pmgtnnuyhu dwifuubtinh muntuughmnwjuu puuwlupgdwu hnnyuoutn
CLRUUGLL oUluUB (17,445,879.7)
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CueU8hu oUluUE? (16,972,963.1)
U3L oUruutr (16,972,963.1)
Nuwhnunwjhu thongutip (16,972,963.1)
N2 pruvlvudul’y UuShdy LG h ¢oNd, oUuUG? (472,916.6)
<hUvUuu’vy UbN8LEN (472,916.6)
CEULREN BY, ChuMa8Nh L LG (472,916.6)
- Ciuptiph b ohunipymiuutinh PJhutwpupnipyniu (472,916.6)

cusuUSULh AULNPUNGSNRF8UL

JuMrUMEGSh UChuUSUUWULUD
asugdaunr U. CULNha8NhL3UL
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